Properties of atoms

Class

In this modern drawing of an atom, what
is present that would not be drawn in
Bohr’s model of the atom?
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Protons are positively charged, electrons
are negatively charged, and neutrons are
neutral. Using the diagram below,
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atom shows rotQ $ and electrons existing
together in the-center of an atom. If this
model was correct, than the atom shown
would have which charge? =

A positive
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C none
D both positive and negative ~__ =
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A| the.mopdein
3 Rutherfof

\

ne of the: aba

daonvertorle giom fo armisatops-eftht
same element, the number of
would have to be changed.

A electrons
B neutrons
C protons

D elements

© Copyright NewPath Learning. All Rights Reserved. Permission is granted for the purchaser to print copies for
non-commercial educational purposes only. Visit us at www.NewPathWorksheets.com


http://www.NewPathWorksheets.com/#login
http://www.NewPathWorksheets.com/membership

Properties of atoms

Class

In this modern drawing of an atom, what
is present that would not be drawn in
Bohr’s model of the atom?

‘leb“'\l’la \}

lD
9]

Date

In 1913, the model of the atom was
revised to show electrons circling the
nucleus.in_specific orbits. This is

caled__ . model.
X *SM

B Hutherford p
C| Dalton’s L Cj
D theumodern atomic

Protons are positively charged, electrons
are negatively charged, and neutrons are
neutral. Using the diagram below,

7

e \

PREVIEW

Please Sign In or Sign Up to download
the printable version of this worksheet

charge.
LN
=)
&

7

A element

B compound

€ molecule 7 ——

D chemicas X

= 1M
-_ //q

e The tia slow of sarirer/mode! of-an

atom shows rotQ $ and electrons existing

together in the-center of an atom. If this
model was correct, than the atom shown
would have which charge? =

A positive
B negative
C none
D both positive and negative ~__ =

represents which theory
of atomic structure?

A| the.mopdein
3 Rutherfof

\

ne of the: aba

daonvertorle giom fo armisatops-eftht
same element, the number of
would have to be changed.

A electrons
B neutrons
C protons

D elements

© Copyright NewPath Learning. All Rights Reserved. Permission is granted for the purchaser to print copies for
non-commercial educational purposes only. Visit us at www.NewPathWorksheets.com


http://www.NewPathWorksheets.com/#login
http://www.NewPathWorksheets.com/membership
http://www.tcpdf.org

